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PAIX - TRAVAIL - PATRIE Département de Génie Infermatigue

MINISTERE DE L'ENSEIGNEMENT Spéciatité : G211 (If) Ce systéme asservi comporte, conformément au schéma général de la figure 1,
SUPERIEUR Durée: 4H Y . .
UNIVERSITE DE DOUALA - Coefficient : 03 - i”(_ les éléments ci-aprés :
ESO}.P_; N‘O!RMAL}Z SUPERI.EUI?E ,_)(“’ -7 ~ ) N . s
D’ENSEIGNEMENT TECHNIQUE %\ Un moteur & courant continu M.
SENSRD) - Une chaine directe se compasant d’un hacheur (Hach), de son dispositif
Concours d’entrée en 3°™ apnée du premier cycle de commande (com Hach) précédeé d'un amplificateur d’erreur(Ampl).
Sessien des 3 et 4 octobre 201 4 - Une chaine de retour se compaosant d’une dynamo tachymétrique DT
suivie d'un filtre,
EPREUVE DE SPECIALITE - Un opérateur de différence {op Diff) élaborant la tension d’'erreur X,,.
PROBLEME 1 : Transformateur monophasé - ) ) . .
Le probléme comporte trojs barties pouvant étre traitées de facon
On considére le transformateur 220/125 V, 50 Hz; les essaisont donné [es indépendante.
resdiatesuants: A/Etude du moteur 3 courant continu
- Essai 2 vide sous tension primaire nominale C'est un moteur 3 excitation indépendante qui fonctionne & courant
10=0.8A; Up=125V; Pro=70 W d’excitation constant et sous tension d’induit nominale U, =220 V. Sa
- Essaien court-circuit réaction d'induit est parfaitement compensée, sa résistance d'induit est R= -
Uicc =19 V; lyee =hn= 10 A; Pice =100 W 2,00.
1. Faire les schémas des mantages et préciser les appareils nécessaires 2
cet effet, le transformateur est parfait pour les courants lorsque ceux- 1. Le moteur fonctionne en charge. On a relevé une intensité du courant
ci ont leurs valeurs nominales (hypothése de Kapp). d'induit 1=10 A et une fréquence de rotation n=100Gtr.min™
2. Calculer aj Calculer laf.e.m. E et montrer que E=K; x n (E proportionnet 3 n) et Ky,
a} Lerappert de transformation E étant exprimée en volts et i en tours par minute.
b) Le facteur de puissance 2 vide. b} Calculer le moment du couple électromagnétique T,
3. Sachant que la résistance R, du primaire est égale 3 0,50, vérifier que ¢) Les pertes dites “constantes” de ce moteur sont Fo=T0W et les pertes’
I'on peut considérer que la puissance 3 vide donne la valeur des d’excitation Pie=90 W. calculer Ia puissance utile, le moment du
pertes fer. coupie utile et son rendement.
4. Pourquoi peut-on considérer que Picc est égale aux pertes pasttet 2. Le moteur fonctionne 2 vide. En négligeant I'intensité du courant
{Rkie= dans I'induit, déterminer la f.e.m. Epetia fréquence de rotation Ne.
5. Représenter le schéma équivalent de Thévenin du transformateur vu
des bornes d% secondaire. 3 . Moteur qué la variation de la fréquence de rotation An = N, — 71
6. Calcuier les composantes R;et X; de I'impédance interne peut se mettre sous la forme An = % et calculer sa valeur pour 1=10 A,
coerrespondante.

7. Le transformateur débite sur une charge inductive de facteur de
puissance 0,8 ; I'intensité du courant secondaire est |,
e Déterminer ia tension secondaire U,
¢ Déterminer le rendement du transformateur
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B/ Etude du hacheur _ On donne, figure 4, le schéma de I'opérateur de différence et de
‘amplificateur. Les ampliateurs opérationnels AQ1 et AO2 sont parfaits et

Ii est conforme au schéma de la figure 2.
fonctionnent en régime linéaire.

Uinterrupteur K et la diode D sont parfaits. La période de hachage est T, et ie
: 1 ‘onérate » différe

rapport cycligue a. i. Etude de Vopérateur de différence.

mMontrer gue X, = U, — U, On pourra pour ce faire exprimer V¥ en
fonction de u, ainsi que ¥~ en fonction de u, et X, (V' et V™ étantles

différences de potentiel entre les entrées de AGQ1 et la masse).

U'inductance L de I'induit du moteur a une valetr suffisante pour gue le courant
dzns I'induit soit ininterrompu.

La tension d’alimentation du hacheur est Ugy= 220V,
2. Etude de 'amplificateur.

La relation entre l1a f.e.m. E et la fréquence de rotation nest E=0,20 x n. R
_ Montrer que sa transmittance est A=ur/x =%+ 4fg
(E en volts, n en tours par minute). R=2,0 (0. er &
1. Ftude de |z tension u pour a=0,80. On veut obtenir A=20. Calculer Ry si Rz=2,0 k{2,
a) Représenter en le justifiant I'oscilogramme de la tension u ). O
) 5 - On 3. Etude lorsque le moteur est a vide 1 T = 0, A=20.

prendra comme instant d’origine, 'instant ol Vinterrupteur K se

ferme. On note ng la fréquence de rotation exprimée en tours par minute.

b} Echelles : 1cm «220 V en ordonnées et 10cm < Ten abscisse. n
P . i - - ra T At i ; q- * i i i = =
() Déterminer I'expression littérale de la tension moyenne T en Déterminer I'expression de la transmittance de ia chaine directe Hqg /xer
fanction de U, et a. Calcui Sri ; i
o€ alcuier sz valeur numérique. en fonction de &, ky et ky

7. Fonctionnement du moteur pour a=0,80.
2) puis calculer sz valeur.

Le moteur fonctionne en charge ; l'intensité moyenne est [ = 10A. b) Caiculer la valeur numérigue de la trapsmittance de la chaine de retour

déterminer E en donnant les justifications utiles et déduire n. K_u-r/
0"

3. le dispositif de commande du hacheur (Com Hach) est tel que le i . :
¢) En utilisant les transmittances Hoet K, exprimer n en fonction de u, et

rapport cyclique @ est proportionnel a une tension de commande u, ;
montrer que ia transmittance globale To peut se mettre sous forme :

soit = 0,20 x u, . Montrer que [=k,x u, et calculer la transmittance
ke, du hacheur.

1+ HpK
d} Calculerla fréquence de rotation ngpour une tension de consigne u,=

To puis calculer sa valeur

C/ Etude de I'asservissement en Régime établi
On donne, figure 3, le schéma unifilaire faisant apparaitre la

transmittance de chaque organe. 4,6 V.
L3 chaine de retour a une transmittance k = Ur telle que U,=5,0 V 4. Etude lorsgue le moteur est en charge i = 10A. on conserve u,= 4,6 Vet
n
A=20.

pour n=1000tr.min™.
: g a) Exprimer n en fonction de u, et i en utilisant Hoet K.
L2 transmittance du hacheur est ky, = — = 44,
u
¢ Mettre I'expression sous forme :

On rappelle que ky = E/n = 0,20 V/tr.min™ et R=2,00). H Rx1 1
- [¢] =
I Ya k1 * T HoK

1+ HoK
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soit n=n, — An: n fréquence de rotaticn en charge
n, fréquence de rotation 3 vide e

An écart des fréquences de rotation

Calculer An et n.

- . . ra - X uc
b) Gn rappelie que la variation de fréquence de rotation en bouche i “

Uz i
e —
ouvert est An A K,

i w
i
|
'.._h
Sy
FaS
-

_ Bna(ouv)

. ! ‘
Déterminer le facteur de régulation F = en fonction de Hg et K Ur ” = [
.
. o : , K - =
Puis calculer sa valeur ; indiquer l'intérét de ce systeme bouclé,
|
|
R2
R -
J A [
7 e i Com =
3 Aoe Ampt =
i Hach Hach u, R R1 b
PR ) O B B b = i B
I v Xer I U(I . AO1 = AQZ
R

Ur + + U,

PO u, ? .
[*})
fittre u, R | Ker
Opérateur de différence Wéf' Amplificateur

Us

Figure 2
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PEACE - WORK - FATHERLAND Computer Engineering Department
MINISTRY OF HIHG EDUCATION Speciatity : G2IL(ED
UNIVERSITY OF DOUALA Tinie: 4H

ADVANCED TEACHERS' TRAINING Coefficient : 63

COLLEGE FOR TECHNICAL EDUCATION

Entrance Examination in 3rd year of the first cycle
Session of 3 and 4 October 2014
SPECIALITY SUBJECT

PROBLEM 1: Transformer singie-phase

Consider a transformer of 220/125V, 5C Hz; the tests gave the following

results:

. No-load tast under nominal primary voltage
16=0,8 A ; U3=125V; P15=70 W
- Testin short-circuit ‘
Usee= 18 V; lace =lan= 10 A; Py =100 W
1. Draw the diagrams of the circuit and specify the devices necessary
for this purpose, the transformer is perfect when the currents have
their nominal vaiues (Kapp hypothesis).
2. Calculate :
a) The transformation ratio
b} The power factor in no-load case.

(W3]

. Knowing that the resistance Ry in primary is equal to 0,50, check that
one can consider that the power in no-ioad case gives the value of the
losses iron.

4. Why one can consider that Py is equal to the losses by loule effect?

5. Draw the equivalent Thevenin diagram of the transformer seen in

secondary

6. Calculate the components Ryand X, of the corresponding internal

impedance.

7. The transformer outputs on an inductive load of power-factor 0.8; the

intensity of the secandary current is b,

« Determine the secondary valtage U;

¢ Determine the transformer output
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This contraled system, as shown in the general figure 1, has:

- A direct chain being composed of a chopper (Hach), his contro! device
(COM Hach) preceded by an amplifier of error (Ampl).

- A feedback loop being composed of a tachometric dynamo DT followed by
a filter.

- An operator of difference (op Diff) generating the voltage in Xer error.
The prablem comprises three parts being able to be treated independently.

- A DCmotor M.

- Adirect chain composed of a chopper (Hach), its control devices (com
Hach) preceded by an amplifier of error (Ampl).

- Afeedback loop composed of a tachometric dynamo DT followed by a
fiiter.

- An operator of difference (op Diff) generating the error voltage X

The problem has three parts that can be treated independently.

A/ Study of 3 BC moter

it i a separate excitation motor which functions with constant operate
current and under nominai voltage of armature Un =220 V. Its armature

reaction is compensated perfectly, its resistance of armature is R=2.00.

1. The motor functions in load. The recorded intensity of the armature 1=1G
A and a rotational frequency n=1000tr.min™ .
s) Calculate the e.m.f E, and show that E=K; x n {E proporticnal to n)and
K7, Ebeing expressed in volts and n in turns per minute.
b) Calculatethe motion of the electromagnetic torque T,
¢) The losses known as “constant’”’ of the motor are Po=70W and the
excitation losses P;.=30 W. calculate the usefull power. The motion of

useful toraue and its cutput.

2. The motor works inno-foad case. By neglecting the intensity of the
current in the armature, determine the e.m.f. Eg and the frequency of

retation n,.
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- An operator of difference {op Diff) generating the voltage in Xer error.
The prabiem comprises three parts being able to be treated independently.
PROBLEM 1: Transformer singie-phase . A DEmoser K.

Consider 3 transformer of 220/125 V, S50 Hz; the tests gave the foliowing - Adirect chain composed of a chopper (Hach), its control devices (com

Hach) preceded by an amplifier of error (Ampl).

results:
- Afeedback loop composed of a tachometric dynamo DT followed by a
_ No-load test under nominal primary voitage filter
116=0,8 A ; Upo=125V ; P1o=70 W - Anoperator of difference (op Diff) generating the error voltage X
- Testin short-circuit ‘
Usce= 19 V; lyce =lae= 10 A; P1cc =100 W The problem has three parts that can be treated independently.

1. Draw the diagrams of the circuit and specify the devices necessary
for this purpose, the transformer is perfect when the currents have

A/ Study of 3 BC moter

their nominal values (Kapp hypothesis). it is a separate excitation motor which functions with constant operate

2. Calculate : current and under nominai voltage of armature Un =220 V. Its armature

a) The transformation ratio reaction is compensated perfectly, its resistance of armature is R= 2.00.

b} The power factor in no-load case. > 3 ; s
: 1. The motor functions in load. The recorded intensity of the armature I=10

. Knowing that the resistance Ry in primary s equal to 0,50, check that

(W3]

A and a rotational frequency n=1000tr.min™ .

one can consider that the power in no-ioad case gives the value of the ; ; ‘
a) Calculate the e.m.f E, and show that E=K; x n {E proporticnal to n) and

losses iron. ; : : ;
Ki, E being expressed in volts and n in turns per minute.

4. Why one can consider that Piecis equal to the losses by Joule effect? . ]
Calculate the motion of the electromagnetic torque T,

5. Draw the equivalent Thevenin diagram of the transformer seen in

iJ
T

~

The losses known as “constant” of the motaor are P,=70W and the

secondary _ o
excitation losses P;.=20 W. calculate the usefull power. The motion of

6. Calculate the components Ryand X, of the corresponding internal . ~
useful toraue and its cutput.

impedance.
7. The transformer outputs on an inductive load of power-factor 0.8; the 2. The motor works inmno-ioad case. By neglectiné the intensity of the
intensity of the secandary current is . current in the armature, determine the e.m.f. E; and the frequency of
« Determine the secondary valtage Uz retation n,.

¢ Determine the transformer cutput
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3 . Show that the variation of the frequency of rotaticn An = n, — mcan

Rx/ 4 =
the form A = = and calculate its value for =10 A.

i

be putin

B/ Study of the chopper
it ic identical te the diagram of figure 2. The switch K and diode D are perfect.
The period of hash is T, and the cyclic ratio . The inductance i of the motoer
s 2 sufficient value to maintain uninterruptedsthe current in the

armature ha
Thesrelationship

armature. The supply voltage of the chopper is Ug= 220V
between the e.m.f. E and the rotation frequency n is £=0,20 xn{Ein volts, nin

turn per minute). R 2.0 Q:

1. Study of u voltage for a=0,80.
a) Represent, by justifying it, the oscillogram of the voltage u(t), (take
as origin instant, the time when the switch K closes.

b) Scales: em <320 Vinyand 10cm <> Ton the x axis.

c) Determine the literal expression of the average voltage U in
function of Ug and a. Calculate its numeric value.

. 2. Operation of the motor for ¢=0,80.

The motor operates in foad, the average intensity is T = 10A.

détermine E by giving justifications and deduct n.

The motor operates in load, the average intensity is 1= 10A.
determine E by giving the relevant gro unds and deduct n.

3. The control device of the chopper (Com Hach} is such that the cyclic
report o is proportional to a control voitage u, let say = 0,20 X 1¢¢ -
Show that que U=kyxu, and calculate the transmittance k; of the

chopper.

C/ Study of the servo control in permanent regime
It is given, figure 3, the one- line diagram showing the tra nsmittance

Ur

of each body. The feedback chain has a transmittance k = -y such

that U,=5,0 V fer n=1000tr.min™*. The transmittance of the chopper is

Ky == = 44.

U
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Given figure 4 the diagram of the operator of difference and of the amplifier.
The gperational amplifiers AOI and AQ2 are perfect and operate in linear

regime.
1. Study of the operator of difference.
Show that X, = tg — i,. Onecan exprime V7 as a function of iy and V™

as function of #, and X (V7 and V™ are potential differences between
the entries of AQ1 and the ground).
2. Study of the amplifier.

Show that its transmittance is A="r/ = 4. R/

/Xe'-' /Rl.

One wants to obtain A=20. Calculate Ry if Ry=2,0 k.
3 Study when the moteris in no-load case : T = ¢, A=20.
Note ngthe frequency of rotation expressed in turns per minute

Determine the expression of the transmittance of the direct chain Hp

n ,
="/, s afunction of A, ky et ko

a) Then calculate its value.
b} Calculate the numerical value of the transmittance of the feedback chain

'Y n,

¢) By using the transmittances Hyand K, exprime n as a function of u, and
show that the global transmittance Tp can be put in the following form :
_Hg
1+ Ho
Calcuate the rotation frequency ngfor a setpoint voltage t,= 4,6 V.
4. Study when the motor isin load 1= 10A. One keeps u,= 4,6 Vand A=20.

To= thﬂn calculate its value

a2

a) Exprime nas a function of u, and i using Hpand K .

put the expression in the form:

Hg Rx1 1
= U, — X
14 HoK fy 1+ HoK
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that can be written as n = R, —An: nrotation frequency in load

{
ne rotation frequency in no- foad case ; J :
N r
; ; i | R W Mator
An Difference of rotaticn frequencies i L = :
I [ R
CalcutateAn and n. o i |
ﬁ Xer - U { B ) —_—t n -
" e - " it Ua N ‘__- 3 <
b) Remember that the variation of frequency of rotation in opened ioop 4..\:/ )__,J‘ %Lﬁ(f _.--‘.‘ i/Kl J_l_rﬁ_
is An e e P Evmar s |
| t i
A o ’ An(ouv) 5 y e . U, | ______
Determine the regulation factor F = “an 3safunctionef Hj and K 4 Uy g n
n
| | e ] Kj;k*_ L,
then calculate its value ; indicate the interest of this closed loop system. L |
= T Flgure 3 ” R2
- - Com i —
1 2 Ampl Hach Hach _:\ 4 U, _E i
; : ! ] - b = e 3 N :
u AO1 AC2
I m K e /}_L/ 8 Q ? R :
= ' u : + U "
U, T 1[ ¢ .
i ® ;
Figure 1 filer H I o
J
Operator of difference G Amplifier
Figuee 4
Uy ’ o u :
i . i e
—_— f’j‘o-’*-
a [P
-: u E
Uy :
Figure 2
s Mo
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